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Transport Economics 1B Examination - &

SECTION B {30 marks)

Quesiion 1
Reed the below case study znd answer the questions that follows:

Case Study. The Port of Saldanha

Saldanha is a little town on the West Coast of South Africa. It has a Port that is used for the export of iron
ore expotis mainly. The ore is trucked from the mine to the port by a total of about 342 wagons that are
pulled by thrze locomotives over a disience of just over 860 kilometres. South Africa has high quality ore
&nd although the country is a small player in the global market compared {0 countries like Auetralia and
Cnina. Who are experting volumes ‘way over 150 inillion metric tons per year. The couniry’s abundant
mining reserves make it imperativa for it to invest in the relevant port infrastruciure {0 ensure that it
benefite from the 2xports. From exporting 26 miliion tons P37 year in previous years, the volumes have
now baen increasad to just cver 50 million tons. With the inlended expansion it is envisaged that the nosi
wiill do just over 80 million tons leading to 2 growth of about 100 vessels calling at the port {0 200 per
year, All the expansion cama at & cost of about R950 million and it is envisaged that the next phase will
need about RE650 million. Albeit slov: this Investment will bring along a numbe: of bensfits to the: region as
well as tha country in socio-economic terms.

1.1 Considering the total sum investraent needed, mention threa diiferent ways the port can raise
the capital needad. (6)

"2 Whera will the port be getting income from to ensure a return of investment from? (4)

1.3 Assuming something where to go wrong on the line and road transport has to ba used with 35t
tippers:

- How many trips will be needed to deliver 10 000 tons in total? (5)
- Calculate the total number of kilometres covered, based on the number of trips above and
the rail distance to and from the port? 5)

1.4 s the above a move worth considering for any company? (Ys or ido) Provide 3
reasons why (4)

1.5 Thera &re no toll gates from the Northern Cape to Saldanha. What would the 4 biggest road
transport oparational 2:penses be? 3]

1.6 Excluding sll expanses whai is the lowest smount to charge par kilometre for a reium &ip o
move 10 000tons befora adding other costs? {4}
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SECTION C

Question 5 {19 marks}
Discug the cheracieriziics of 2 good vehicle replacement policy for a flcel operstor?

Quesfion 8 {5 marks)
Describe the term refurbistunient. Which vahisle parts are normally refurbiehad?

Question 7 (4 marks)
Defing vohicle maintenancs and also mention tvwo iypes of maintenance.

Question 8 {8 marks}

Briefly mention 3 ways how a natrol workers strike will sfieci the road freigit transport industry.

Quection & (& marks)
State If the following is true or false:

&) Tyres form pari of the 2 biggest experises in vehicie operaiions

b) New vehicles can rasutt in large cost savings despita their high costs

¢) Depreciation means that the vehicle value increases over time

d) Dragis caused by a lack of eerpdynamic features and can lower fuel consu mption.
e) Warranties last for the entire vehicle life.

Quastion 40 {10 marks)
Discuss the roles and functions of the Road transport iManagemant System.
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